
 

 

A. Choose the correct answer: 

1. A watermelon weighs 2 kg 800 g and a pumpkin weighs 4 kg 200 g. What is 
their total weight 

 a. 6 kg    b. 7 kg 

 c. 7 kg 100 g   d. 7 kg 200 g 

2. A bag of rice weighs 5 kg 500 g. If 2 kg 300 g is used, how much is left 

 a. 3 kg 200 g   b. 3 kg 

 c. 2 kg 200 g   d. 3 kg 100 g 

3. A student carries a bag weighing 3 kg 750 g and a water bottle of 1 kg 250 g. 
What is the total weight 

 a. 4 kg 500 g   b. 5 kg 

 c. 5 kg 100 g   d. 6 kg 

4. A box weighs 6 kg 900 g and another box weighs 3 kg 100 g. What is their 
total weight 

 a. 10 kg   b. 9 kg 900 g 

 c. 10 kg 100 g   d. 9 kg 700 g 

5. A man bought 8 kg 200 g of potatoes and used 3 kg 450 g. How much is left 

 a. 4 kg 850 g   b. 4 kg 750 g 

 c. 5 kg    d. 5 kg 200 g 

B. Write the Missing Terms to Complete the Sentences: 

1. A fruit basket has 3 kg 600 g of apples and 1 kg 400 g of oranges. The total 
weight is ______ 

2. A parcel weighs 7 kg. After removing 2 kg 500 g, the remaining weight is _____ 

3. A sack has 9 kg 900 g of wheat. 4 kg 100 g is taken out. The leftover weight is 
______ 

4. Riya bought 2 kg 250 g of sugar and 2 kg 750 g of flour. Together they weigh 
______ 
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5. A watermelon weighs 5 kg 800 g. A melon weighs 4 kg 200 g. The total weight 
is ______ 

C. Mark each sentence with a True (✔) or False (✘): 

1. 3 kg 500 g + 2 kg 300 g = 5 kg 800 g   ______ 

2. 7 kg − 4 kg 200 g = 2 kg 800 g    ______ 

3. 1 kg = 1000 g       ______ 

4. 6 kg 700 g + 1 kg 300 g = 8 kg    ______ 

5. Subtracting 2 kg from 3 kg 500 g leaves 1 kg 300 g ______ 

D. Figure out the answers to these questions: 

1. A baker uses 3 kg 400 g of flour and 2 kg 600 g of sugar. Find the total weight of 
ingredients used. 

2. A shopkeeper had 10 kg of onions. He sold 6 kg 750 g. How many kilograms are 
left? 

3. A box weighs 8 kg 100 g. Another box weighs 3 kg 600 g. What is their 
combined weight? 

4. A bag contains 6 kg of rice. If 2 kg 450 g is taken out, what is the remaining 
weight? 

5. A child lifts a 1 kg 800 g bag and a 2 kg 500 g water bottle. What is the total 
weight carried? 

E. Challenge yourself with these questions: 

1. A vegetable bag weighs 9 kg 300 g. After removing 3 kg 700 g, what is the 
remaining weight? 

2. Find the total of 2 kg 250 g and 5 kg 450 g. 

3. Rani bought 3 kg 600 g of apples and 2 kg 800 g of mangoes. What is the total 
weight of fruits? 

4. A parcel weighing 7 kg 400 g is reduced by 2 kg 500 g. How much does it weigh 
now? 

5. A truck carries 12 kg 600 g of goods in the morning and 14 kg 800 g in the 
afternoon. What is the total weight carried? 

  


